

 No. 21-40 Multiple Choice Questions
	1. 
	program Q40;

var  k:integer;

a:integer;

begin

  k:=99;

  a:=2;

  repeat

    a := a+4

  until a>k;

  writeln(a)

end.
A. 99

B. 100

C. 101

D. 102

E. 103 
(1997 MC No.40)


	a= 2 + (4 * n) which n is an integer

   2 + 4n > 99

        n > 24.25

∴ n = 25

∴ a = 2+100 =102

∴ the answer is D.



	2. 
	program Q41;

var A, B:string;

begin

  A:=’ABCDEFGH’;

  B:=’ABC’;

  while length(B)<=length(A) do

    begin

      A:=A+‘M’;

      B:=B+’MM’

    end;

  writeln(A)

end.
A. ABCDEFGHMM

B. ABCDEFGHMMM

C. ABCDEFGHMMMM

D. ABCDEFGHMMMMM

E. ABCDEFGHMMMMMM 
(1997 MC No.41)

	Before passing the loop, 

length(A) – length(B)=5.
∴ length(B) should +6 in order to finish the loop. i.e. the loop should for for 6 times.

∴ A= ABCDEFGHMMMMMM

                   M x 6

∴ the answer is E.


	3. 
	program Q45;

var h, k, s :integer;

begin

  s:=0;

  for h:=1 to 3 do

    for k:=3 downto 1 do

      s:= s+h+k;

  writeln(s)

end.
A. 24

B. 30

C. 33

D. 36

E. 39
 (1997 MC No.45)
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∴ s = 36 at the end of the loop

∴ the answer is D.



	4. 
	If a human being is viewed as a computer, the human brain will be…
A. the disk drive

B. a mouse

C. a scanner

D. the visual display unit

E. the central processing unit
 (1998 MC No,1)


	CPU controls all operations of the computer system just as human brain control all parts of our body.
∴ the answer is E.


	5. 
	How many kilobytes (KB) are there in two megabytes (MB)?

A. 200

B. 512

C. 1024

D. 2048

E. 4096
(1998 MC No.2)

	1 MB = 1024 KB
2 MB = 1024 x 2 KB = 2048 KB

∴ the answer is D.



	6. 
	What is the least number of bits required for representing a character set of 30 characters?

A. 3

B. 4

C. 5

D. 6

E. 7 

(1998 MC No.3)


	4 bit can represent: 24 = 16 character.
5 bit can represent: 25 = 32 character.

∴ 30 characters need at least 5 bits to represent.

∴ the answer is C.




	7. 
	Which of the following binary numbers has its two’s complement equal to itself?


	Change all the binary numbers to its two’s complement:

(A): 11110000 ( 00001111 + 1 ( 00010000
(B): 10000000 ( 01111111 + 1 ( 10000000

(C): 00000001 ( 11111110 + 1 ( 11111111

(D): 10000001 ( 10000001 + 1 ( 10000010

(E): 11111111 ( 00000000 + 1 ( 00000001

∴ the answer is B.



	8. 
	A.

11110000
B.

10000000
C.

00000001

D.

10000001

E.

11111111

(1998 MC No.5)


	

	9. 
	Which of the following networks is a star network?


   A.

  C.

  E.

(1998 MC No.13)
	A star network consists of a central computer connected to several other nodes. Nodes can only communicate with one another through the central computer.
∴ the answer is A.

	10. 
	What is the main disadvantage of using a CD ROM for storage?

A. The user cannot update its contents.

B. It is a volatile memory.

C. It has a low data transfer rate.

D. Its rotational speed is unstable.

E. It can only store graphical images. 
(1998 MC No.4)


	CD-ROM is a read-only device, its content cannot be modified by users.
∴ the answer is A.



	11. 
	A computer terminal requires each user to key in a user-name and a correct password before logging on. The purpose of this is……
(1) To prevent unauthorized persons from using the computer.

(2) To identify the user.

(3) To check the possibility of virus infection.

A. (1) only

B. (2) only

C. (1) and (2) only

D. (1) and (3) only

E. (1), (2) and (3)

(1998 MC No.14)


	A password word system ensure that user can enter the system only when he has a correct account name and password, this can help to unauthorized access to the computer, also it help to identify different users.
∴ the answer is C.



	12. 
	As a validation check for a five-digit number ‘ABCDE’, a digit F is added at the end of the number such that
    A+B+C+D+E+F is an integer divisible by 10.
The above validation check is unable to detect the error when 30201(4) is wrongly entered as ……
A. 30201(3)

B. 40201(4)

C. 30200(4)

D. 03201(4)

E. 30211(4) 
(1998 MC No.19)

	For answer (D), sum of all six digit is 10, which is divisible by 10, so the validation check is enable to detect the error.
∴ the answer is D.



	13. 
	Which of the following statements does not apply to direct access files?

A. Records can be accessed sequentially.

B. File will be very efficient if only a small number of records need to be changed.

C. Files can be stored on a magnetic tape.

D. Retrieval of records is fast.

E. They are often used for large database application.     
(1998 MC No.21)


	The access mode of magnetic tape is sequential access instead of direct access.

∴ the answer is C.



	14. 
	program Q43;

var A, B:integer;

procedure SWAP(C, D:integer);

var T:integer;

begin

  T:=D;

  D:=C;

  C:=T

end;
begin

  A:=1;

  B:=2;

  writeln(A, ‘  ‘,B);

  SWAP(A,B);

  writeln(A, ‘  ‘,B)

end.
A. 1  2

2  1

B. 1  2

1  2

C. 2  1

2  2
D. 1  1

1  1

E. 1  1

2  2 
(1997 MC No.43)

	Since the parameters of the procedure SWAP are value parameters, i.e. any change of value in the procedure wasn’t output to the main program. Therefore the value of A and B doesn’t change over passed the procedure.
;. The answer is B.



	15. 
	Which of the following fields of student records can be used to identify a particular student?

A. date of birth

B. student name

C. telephone number

D. student number

E. any one of above
(1998 MC No. 22)


	The key field should be unique for each student.
∴ the answer is D.



	16. 
	‘Data are stored for a period of time before they are process altogether in a separate operation.’ This sentence describes……
A. real-time processing.

B. Batch processing.

C. On-line processing.

D. Interactive processing.

E. On-line non-interactive processing. 

(1998 MC No.24)

	The answer is B.


	17. 
	Mr A sends some important data to Mr B by electronic mail. In order to prevent other people from reading the data, the data should be ___ before being sent.

A. verified

B. compressed

C. encrypted

D. validated

E. digitized 
(1998 MC No.26)


	A encrypted file are coded in a special format when store or transmitted, so even someone get the data, he will be unable to read it unless he get the encrypting key to decrypt the code the original data.
∴ the answer is C.



	18. 
	Which of the following persons does not have a right to privacy?

A. a prisoner

B. a child under 12 years old

C. a patient living in a hospital

D. a pop singer

E. All of the above persons have a right to privacy.         
(1998 MC No.27)
	Everyone All kind of people should have a right to privacy.

∴ the answer is E.

	19. 
	Which of the following does not normally require the use of a CD ROM drive and a sound card?

A. Running interactive presentation software

B. Running educational software for kids

C. Pascal programming

D. Playing computer games

E. Playing VCDs (video compact disks) 

(1998 MC No.30)


	The answer is C.


	20. 
	In a local area network where one printer serves several computers, the printing jobs of the printer will most likely be executed……
A. simultaneously.

B. On a time-sharing basis.

C. On a random basis.

D. On the first-come-first-serve basis.

E. On the last-in-first-out basis.

(1998 MC No.31)

	Since there are several users, the printer should serve each users according to the sequence they ask for serve.
∴ the answer is D.



	21. 
	program Q36;

begin

  writeln(trunk(squt(17)))

end.

A. 3

B. 4

C. 5

D. 6

E. 7 
(1998 MC No.36)

	Sqrt (17) = 4.1231…

Trunk(4.123) = 4

∴ the answer is B. 
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